
81-K 2 CCE PF & PR  

  PF & PR - 7007  

I. 

 8 × 1 = 8 

1. n ( A )  

   

 (A) 3 (B) 1 

 (C) 5 (D) 2 

2.  “n”  

 (A) n ( n + 1 ) (B) n ( n + 2 ) 

 (C) 2n  (D) 2 2n  

3. 3 2 

 

 (A) 3 (B) 18 

 (C) 6 (D) 5 

4. 

 

 (A)  (B)  

 (C)  (D)  



CCE PF & PR  3 81-K 

5. p ( x ) = 2x  – x + 1 ( x – 2 )  

 (A) 2 (B) 3 

 (C) 0 (D) 1 

6. ( p, q )  

 (A) 
22 qp   (B) 22 qp   

 (C) 22 qp   (D) 
22 pq   

7. 3 y- 5  

 (A) 3y  = 5x + 3 (B) 5y  =  3x + 5 

 (C) y  =  3x – 5 (D) y  =  3x + 5 

8. 7 cm  

 (A) 88 cm2  (B) 616 cm2  

 (C) 661 cm2  (D) 308 cm2  


